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Section I: Read the following passage and then answer the questions that follow:

Bigfoot is a humanlike creature reportedly living in the Pacific Northwest. Bigfoot sightings
have been noted most often in the mountainous areas of Northern California, Oregon, and
Washington in the United States. The creature has also been spotted numerous times in British
Columbia in Canada, where it is known as Sasquatch.

The creature described by witnesses is tall by human standards, measuring 7 to 10 feet (2 to
3 meters) in height. 1t resembles an ape with its thick, powerful, furcovered arms and short,
strong neck; however, its manner of walking erect is more like that of Homo sapiens.

Although there have been hundreds of reported sightings of Bigfoot, most experts have not
seen enough evidence to be convinced of its existence. The fact that some purported evidence
has been proven fake may have served to discredit other more credible information.

1. Which of the following best states the topic of the passage?
a. Differences between Bigfoot and Sasquatch c¢. Where Bigfoot, or Sasquatch, can be found
b. A description of Bigfoot . d. The creature Bigfoot and its questionable existence
2. The word "noted” in line 2 is closest in meaning to which of the following?

a. Reported b. Written in a letter c. Refuted d. Discussed
3. It is implied in the passage that Bigfoot would probably NOT like to live
a. in Oregon b. in the Pacific Northwest c. on coastal plains  d. in mountainous areas
4. Which of the following is NOT true about the appearance of Bigfoot?

a. Its arms and neck look like those of an ape. b, Its arms are covered with fur.

c. It is short-necked. d. It walks like an ape.
5. According to the passage, how do experts feel about the evidence concerning

Bigfoot's existence?

a. They feel certain as to its existence. b. They are not yet certain.

c. They are sure that it does not exist. d. They feel that all the evidence is fake.

*********************************************************************

Section II: Choose the right answer:

6. Thisisthe ............... watch that you can buy.

a. better b. best c. good d. the good
7. Her heart was filled with ..................

a. SOIrrow b. sorrowful c. sorrowfully d. sad

8. A woman with her two children ............. crossing the road.

a. to be b. is c. are d. be

9. He was born ........... 1980.

a. for b. to c.at d. in

10.She ................ anything to eat since 7 o'clock this morning.

a. didn't have b. doesn't have c. is not having d. has not had
)




r(Au

1T. Why v hospital?

a. your uncle went c. did your uncle go

b. your uncle went to d. did your uncle go to
12. If he had more time, he ............... the zoo.

a. visits b. visit c. would visit d. will visit
13, January ............ the first month of the year.

a. is b. was c. to be d. are
14. The window ............... by the boy yesterday.

a. broke b. is broken c. was broken d. breaks
15. They .oovovvnnnn. football now.

a. play b. are playing c. playing d. played
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Section III: Select the correct answer:
16. To build a house or an institution means t0...................

a. construct b. constrict c. contrast d. contain

17. To call on someone isto ................ him or her.
a. abuse b. look down upon C. visit d. telephone

18. Coinsmean ......................

a. money b. stones c. pots d. gifts
19. Eating grass means ......................

a. vacancy b. grazing c. nature d. forest
20. Skyscrapers are called ......................

a. big buildings - b. tall buildings c. new buildings  d. old buildings
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Section IV: Select the one underlined word or phrase that is incorrect:
21. The four string on a violin are tuned.

a. The b. string c. are d. tuned
22. There is plenty of farmers in the market today.
a. is b. of c.in d. today
23. The first fish have appeared on the earth approximately 500 million years ago.
a. The first b. have c. appeared d. million
24. A village is a quite place to live in.
a.is b. quite c.to d.in
25. You must drive careful or you will have an accident.
a. must b. careful c. have d. an
skook sk ok ok sk ook o ok ok sk ok sk skok sk ok sk ok sk ok ok skosk skok koo sk skook sk okosk skok sk ok sk skok skoskok skok kok kokoskok sk kok skok kR ok sk sk sk kR ok Rk ok
Wish You All the Best
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Section I: Read the following passage and then answer the questions that follow:

Bigfoot is a humanlike creature reportedly living in the Pacific Northwest. Bigfoot sightings
have been noted most often in the mountainous areas of Northern California, Oregon, and
Washington in the United States. The creature has also been spotted numerous times in British
Columbia in Canada, where it is known as Sasquatch.

The creature described by witnesses is tall by human standards, measuring 7 to 10 feet (2 to
3 meters) in height. It resembles an ape with its thick, powerful, furcovered arms and short,
strong neck; however, its manner of walking erect is more like that of Homo sapiens.

Although there have been hundreds of reported sightings of Bigfoot, most experts have not
seen enough evidence to be convinced of its existence. The fact that some purported evidence
has been proven fake may have served to discredit other more credible information.

1. The word ""noted” in line 2 is closest in meaning to which of the following?

a. Reported b. Written in a letter c. Refuted d. Discussed
2. Which of the following best states the topic of the passage?
a. Differences between Bigfoot and Sasquatch ¢. Where Bigfoot, or Sasquatch, can be found

b. A description of Bigfoot d. The creature Bigfoot and its questionable existence
3. It is implied in the passage that Bigfoot would probably NOT like to live
a. in Oregon b. in the Pacific Northwest c. on coastal plains  d. in mountainous areas

4. According to the passage, how do experts feel about the evidence concerning
Bigfoot's existence?
a. They feel certain as to its existence. b. They are not yet certain.
¢. They are sure that it does not exist. d. They feel that all the evidence is fake.
S. Which of the following is NOT true about the appearance of Bigfoot?
a. Its arms and neck look like those of an ape. b, Its arms are covered with fur,
c. It is short-necked. d. It walks like an ape.

*********************************************************************

Section II: Select the one underlined word or phrase that is incorrect:
6- The first fish have appeared on the earth approximately 500 million years ago.

a. The first b. have c. appeared d. million
7- . There is plenty of farmers in the market today.
a. is b. of c.in d. today
8- The four string on a violin are tuned.
a. The b. string c. are d. tuned
9. A village is a quite place to live in.
a. is b. quite c. to d.in
10. You must drive careful or you will have an accident.
a. must b. careful c. have d. an
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Section III: Select the correct answer:
11. Skyscrapers are called ......................

a. big buildings b. tall buildings c. new buildings d. old buildings
12. To build a house or an institution means to...................

a. construct b. constrict c. contrast d. contain
13. Coinsmean ......................

a. money b. stones c. pots d. gifts
14. Eating grass means ......................

a. vacancy b. grazing C. nature d. forest
15. To call on someone iSt0 ................ him or her.

a. abuse b. look down upon c. visit d. telephone
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Section I'V: Choose the Right Answer:

16. Why ................... hospital?
a. your uncle went " c. did your uncle go
b. your uncle went to d. did your uncle go to
17. Her heart was filled with ..................
a. SOITOW b. sorrowful c. sorrowfully d. sad
18. A woman with her two children ............. crossing the road.
a. to be b. is c. are d. be
19. He was born ........... 1980.
a. for b. to c. at d.in
20.She................ anything to eat since 7 o'clock this morning.
a. didn't have b. doesn't have c. is not having d. has not had
21. Thisisthe ............... watch that you can buy.
a. better b. best c. good d. the good
22, If he had more time, he ............... the zoo.
a. visits b. visit c. would visit d. will visit
23. January ............ the first month of the year.
a. is b. was c.to be d. are
24. The window ............... by the boy yesterday.
a. broke b. is broken c. was broken d. breaks
25. They ..ovovnvnnin football now.
a. play b. are playing c. playing d. played
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Wish You All the Best
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